Multiply and Divide by Powers of Ten (I)

Find each product or quotient.

26 X 0,01 = 33:10 =
11:10 = 46:0,1 =
91 X 1.000 = 31 x10 =
53:0,001 = 48:0,001 =
89 X 1.000 = 21:0,1=
11:0,001 = 93 X 0,01 =
61:1.000 = 16 X 100 =
58 X 0,01 = 25x10=
32:0,01 = 52x0,1=
86 xX0,1= 38:1.000 =
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Multiply and Divide by Powers of Ten (I) Answers

Find each product or quotient.

26 X 0,01 =0,26 33:10=3,3
11:10=1,1 46:0,1 =460

91 X 1.000 =91.000 31 x10=310
53:0,001 =53.000 48:0,001 =48.000
89 X 1.000 = 89.000 21:0,1 =210
11:0,001 =11.000 93 x0,01=0,93
61:1.000 =0,061 16 x 100 = 1.600
58 x 0,01 =0,58 25 x 10 =250
32:0,01 =3.200 52x0,1=5,2

86X 0,1=8,6 38:1.000=0,038
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